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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1 Answer any six out of Ten. (2 Marks Each)
1. Write down the function of chassis.
2. What is transmission in automobile?
3. Draw the power flow layout of front engine rear wheel drive.
4. Write full form of AWD, FWD, RWD.
5.0n which principle the clutch works?
5. Write the main component of chassis.
7.Explain the necessity of clutch

8. Name the driving member, driven member and operating member of clutch assembly.

9.Name the different components of clutch assembly
10.Differentiate between chassis and frame.
Q.2 A) Write down the advantages and disadvantages of front engine front wheel drive.
OR
A)Write down the advantages of multi plate clutch over single plate clutch.
B)Explain single plate clutch with neat sketch.
OR
B)Explain multi plate clutch with neat sketch
C) What is chassis?
OR
C) State the good qualities of good clutch.
D) Write down the difference between single plate clutch and multi plate clutch
Q.3 A) Write down the classification of clutch
OR
A)Write down the advantages of Fluid coupling
B) Explain centrifugal clutch with neat sketch.
OR
B) Draw the neat sketch of sliding mesh gear box
C) Write four vehicle name in which centrifugal clutch used.
OR
C) Explain construction and working of fluid flywheel or fluid coupling
D) Write down the advantages and disadvantages of AWD.
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